THIFE REFIZIRPERPTASERRE

IRA DR (AR (B /)
] ¥ g | REZE | E5|1EE
*4 E Pt Pt P - - e
LpE | BEE [BEEN] B | B0 s =
@650 x 11018 x 108 +@650 x 115 x 98 +
= & 728,000 0 728,000 727,350 A 650| garn x 2 i x5 g
k=3 = £y 16,720 0 16,720 19,310 2590| EEPEELE2030, RERES £ FHE17,280
AR ER 25,895, 7 LI & R EIUR BN 19,755,
b5 I A 63,888 0 63,888 74,669 10,781|Z A AL £ [EUR R £28,007, LD REEH &
752, FEEF B0, FEY S RFHBERZEAN250
B 4 & 891,392 0 891,392 891,392 O|RTEEZEHS
i 1,700,000 ol 1,700,000 1,712,721 12,721
FZHOER
] ¥ g 28 REZ | ESEE
*4 E Pt Pt P - - P
upE | REB [BEBA| B® | W-6) # 2
5z % B 21,000 3,000 24,000 20,975 3,025
H O & B 5,000 0 5,000 3,139 1,861|$E. It -FAMEF
B OIE OE W OB 16,000 3,000 19,000 17,836 1,164 (T A= 0N 1S FE X H
® & B 9,000 0 9,000 8,754 246
® B & & & 9,000 0 9,000 8,754 246|1BELBRK
ETEESE 0 0 0 0 0
5 %X B 345,000 0 345,000 256,315 88,685
MiEEEEE 100,000 0 100,000 42,027 57973 |FHEEE#E. EvX—0—— T RE
OB o E B 9,000 0 9,000 0 9,000
& ) % 1T B 151,000 0 151,000 146,740 4260|PTASERI A =50y 1 (3[E) ENRI
E & = £ % 75,000 0 75,000 62,548 12452| N2 - ZE K-V, ZET M GEERLS-)
B BEE%E 10,000 0 10,000 5,000 5,000(PTAGAZ B aAEM A1l
ifd -y 400,000 0 400,000 48,580 351,420
HF{RSE 15,000, $530E 12,400, 1B 45P5E11,200,
=l i) & 90,000 0 90,000 65,270 24,730| & 4nsm22 400, ZPiE2,030. HAIP;E2 240
B B & 20,000 0 20,000 0 20,000
* F &R K H 18,000 0 18,000 17,280 720| Z&REE X FHE
# B & 150,000 0 150,000 150,000 0
¥ i & 647,000 A 3,000 644,000 0 644,000
i 1,700,000 0| 1,700,000 567,174 1,132,826
IR A% 1,712,721 H
X H%E 567,174 M
RueE (%) 1,145,547 H
SHAEE REFIZEFRPTARIESSHRES
IR A DEB (AIEE) (B4 [)
. ¥ B # REEE | zZsiumm
il B - - i i k=2
LyiE | BER | meEn)| B B-A)
e A & 0 0 0 0
po:d 1)} A 22 0 22 14 A 8|FEEFA
fe 21 & 301,447 0 301,447 301,447 ORI EEgHE
H 301,469 0 301,469 301,461 A8
FHDER
¥ %E p; Z B
3 B - | REE ) wnaem i =
=EIEE] WHIERE | REREEA)
7 st & 0 0 0 0
ES % & 0 0 0 0
B 0 0 0 0
IR A#%E 301,461 M
Z ke 0 M
BUEE(ER) 301,461 [




